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https://www.datawrapper.de/_/iXnEF/


https://www.datawrapper.de/_/ZFw4w/
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https://www.datawrapper.de/_/k9HiZ/
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https://www.3fkongres.dk/2013/nyheder/8934f17c60ab41b2988c9e8e7d489e96-20100127-32000-paa-tvungen-jobdeling-i-2009.html
https://www.3fkongres.dk/2013/nyheder/8934f17c60ab41b2988c9e8e7d489e96-20100127-32000-paa-tvungen-jobdeling-i-2009.html
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https://www.datawrapper.de/_/wcM6K/
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https://www.datawrapper.de/_/EGghT/


https://www.datawrapper.de/_/3P0kn/


https://www.datawrapper.de/_/zTdfq/




https://www.datawrapper.de/_/FlKdP/




ℎ𝑖𝑡 = h(𝑡, 𝑋𝑖𝑡, 𝑅) = 1 − 𝑒𝑥𝑝(−𝑒𝑥𝑝(𝜃(𝑡)  +  𝛿(𝑡)𝑅 + 𝑋𝑖𝛽))
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